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4. Number of members in a family were recorded in a locality. Members in each family are shown
below. Arrange the data in a frequency distribution table. Show the data through a histogram.

7.52,63,1,4,8,56,9,10,4,53,567,2,873,2,512,4,6,8,5,26,5,8, 5,6,
9,5 3,10,8,7,2,54,3,1,4,6,8,7,32,83,56,87,573,41,8254,78,10,2
4,5 13,3,261713,5,1.

Selution: The @Emﬂ ot budion fable fur
the above dedeo 1< a‘,w_m he fo:

Rook -9 21) 13




7
Mzummmh.nm
. Mm

2 me.“
=% 5 5% :
w E 55z

|
Jaassibd




5. In a stadium, snnual function of the school was being organised, where parents and grandparents
ﬂmmmthﬂﬂHmhﬂufmnfﬁMlpmmnnmddﬂr

function are shown i the histogram below.

¥
4  Scals ' 1cme 100 persons

%
OYX o woobom X
Age in ysarm —%

(i) Whltwnﬂwmpmpufmlmmnmbuufpnmuwhnmﬂﬁlhnﬁmﬂmn?
(ii) How many senior citizens attended?

(iii) What was the total number of persons in the function?

.{i\'} What is the scale used along OY ?
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6. Weekly pocket moncy spent by the students of o class of 40 students is given in a table below,

Dvaw a histogram.

40-50

-t

50-60

60-70

70-80

80-90

- —

90-100

[No. of students | 6

4

3

If the school is open on 5 dnys a week, how many students are spending equal 1o or more than

T 10 per day.
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7. The donation
was deposited in the account
made the following collection.
600, 500, 850, 725, 540, 350,
420, 740, 750, 680, 280, 450, 530, 750, 580, 900, 500,

Seluhien: Fﬂafuﬂuj oatnbubion table of o gjw.ru
‘Cln-lﬂ 8

150D - 3ﬁﬁ
Sep- Y00
Lioo- Soo

..Sthp“ boD

600 — Joo

Joo- Qoo
Boo~ SoD
31:_& - | op®

L Tn-l-n_p

Shu (P

[ s Tpservel

bo 0w

) rﬂ.ﬂ EU Moy k.S

|
11}
TR

Antl

\
i
il
R

for cancer patients were collected by an organisation and the amount (in ¥) collected
of Rajiv Gandhi Memorial Trust. 30 members of the organisation

Draw a histogram for the data.
900, 1000, 400, 390, 850, 540, 550, 320, BOO, 650, 450, BOO, 3N,
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Marks (per cent)

No. of students

020
20 - 40
40 - 60
60 - 80
B0 - 100

DEggw

(i) How many students secured 60% and above?
(i)) How many students secured less than 40%"?

8. 150 students appeared for the CBSE examination of X™ class. Number of students percentage
wise is shown below. Show the result in a histogram.

dbove.
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Cit) Nuambey of students who Secuved. Less
than HOY. = 5 +40=H5

9, Runs scored by a player during last 25 matches played by him are given in the table below. Show
the data by a histogram.,

Runs No. of matches played
0-125 2
25 - 30
50 - 75

100
125

75 -

100
125
150

L - - -

(i) How many centuries were scored by him?
{ii) In how many matches fillies were missed?
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Neo. of days
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Temperature In °C

Hnnulmmmu-uﬂnubnwdlu

Draw a

L]

29 1%




D exercise 7.3,

1. Average time devoted for each subject by a student is given below. Present it by a pie chart.

Subject | English | Maths Hindi | General Sc.| Social Sc.| Computer Sc.
% of time 20 10 10 20 15 5

If the student siudies for 3 hours daily, find :
(i) How much time does he devole for English ?
(i) How much time does he devole for Mathematics?

Totel °). of ime dovoted fov all Sukyecds

= 2ot%0+4 |o+20+15+5 = 1060
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2. Sameer purchased a plot and constructed his house. The amount spent by Sameer on different
wards are given below.

Purchase of land ¥ 5 lakhs
Cement bricks etc. T 14 lakhs
Labour charges T 4 lakhs
Wood work T 6 lakhs
Plumber T 4 lakhs
Electricity T 3 lakhs

Prepare a pie chart for the above data.
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Make of the car No. of cars
Maruti 200
Accent 100
Esteem 120
Honda City 140
Optrn 920
Corolla 70
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4I. Cost of mobile phone hand set instrument of different brands is given below. Draw a pie chart

to represent the data :
Brand Cost (in T)
Nokia 12,000
Sony 14,000
Samsung 15,000
Reliance 6,000
Tata 7,000
Selyton:

Toral costof all ek L2 handsets
=% (12000 4 Iy ooo + IS o00 & & oo +3,000)

=T SHFFD

Boo K-8

2¢/1%




"lﬁ'tl"‘ﬂ

Cendral qna,u it
o Nopia=
.F._-F--—i 3 6o
Llovo J

= 4

(erdrall
{}f\—&lﬂ— "FU*( Sm‘tj LSH ‘;-L:’,Ebj

= g3.23

Ce
rdvol) ﬂr\ﬂiﬂ-—gtr( Jnn’l.hu.r\c_): | Sooo . 3@7

S Yoo

— oo

Cendvall an,a.ﬂﬂ_'(‘wf Roliance = (
= yo°

Cendyal anah Aor Tocte = %ﬁ 3%)“

= Y bF

]

-ﬂ:ﬂ— p‘if., chavk 16 Showh belevs -

Peok~8
3 |




5. Number of children visiting sports club for different activities has the following record :

Activities No. of children
Gymnastics 120
Acrobics 100
Swimming 150
Skating 240
Table tenms 110

Draw a pie chart to represent the above data.
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